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Multiple Choice: Choose the answer that best fits as the solution to the question. 

1. Let T be the set of teachers. Let S(x) be the predicate "x are teachers who are required
to have a student teaching class." What is the negation of statement below?

"All teachers are required to take a student teaching class." 

A) 3x e T, -,S(x)

B) -,'i/x E T,-,S(x)

C) 'ilx E T,S(x)

D) 3x e T,S(x)

E) None of these

2. Given: t =xis a prime number.
g = x is an even number. 

Use symbolic logic to represent the sentence: 

"xis neither a prime number nor an even number, but not both." 

A) (tv g)A(tv g)

B) -,(/Ag) A-,(f V g)

C) (/Ag)A-,(t/\g)

D) -,(t V g) /\ -,(t I\ g)
















